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02 5524l 960 0 960
O332= & MAl 960

03 "ArZ2EHI 7,000 7,000 0
OgdHza &AL & FSL 7,000

202 Ol 67, 800 61, 700 6,100

01 =LH0dHI 67,800 61, 700 6,100
OB NEHYRFA 67, 800

203 B F =] 43,600 40, 600 3,000

03 A=Y= 43, 600 40, 600 3,000
OXNSZHEdaABF 15, 000
OB NSHANHFX 15, 000
OgHIJIBtANE&E 10, 000
OBNIHGRFT 3,600

301 LBtE A= 30, 100 30, 100 0

10 HAAHIE &= 30, 100 30, 100 0
OZH2te HAIAHIEZ 30, 100

JHIHNLES 60, 000 40, 000 20, 000

307 120l & 60, 000 40, 000 20, 000

04 CIZHAE X 60, 000 40, 000 20,000
OZNad E8 ¢ & 45, 000
Osd3HMNEE 5,000
Ot A=elX FHEZA2Y 10, 000
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KB MAIY 2a=T|2t A& 30, 000 0 30, 000
308 A HHSOIH 30, 000 0 30, 000
01 AXEHIESEXS 30, 000 0 30, 000

OXNSZMAIR 25012t Al = 30, 000
MY 28 & A20Hd 9, 130, 440 15, 330, 940 A6, 200, 500
MHeHAIZAIE STt 8, 634, 000 14, 982, 000 A6, 348, 000
403 MR EHSA=01H 8, 634, 000 14, 982, 000 A6, 348, 000
01 NXEMA2EX 8, 634, 000 14,982, 000 A6, 348, 000

O THeHA S AIZ S Hat A 8, 634, 000

-Hot JESEHXIANE = 582, 000

=S 582, 000]
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(2 1,201, 000]
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(2 130, 000]
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(& 800, 000]

-Aeh SEMAAIE = 241, 000

(2 241, 000]
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(2 240, 000]

-0l &t DEAIE = 540, 000

(& 540, 000]

& SEAH = 950, 000

[ 950, 000]
MecHAIE BIUs X3 400, 000 300, 000 100, 000
403 XXM S K201 ™ 400, 000 300, 000 100, 000
01 XXHHA=2EX 400, 000 300, 000 100, 000

OMcHAI BB LS U=t 1, 333, 333, 000& *30% = 400, 000
MehAIE =8 K& 55, 000 25,000 30, 000
307 2I2tol A 55, 000 25, 000 30, 000
04 CIZFSHALE = 55, 000 25,000 30, 000

OMHAE &0 A3S5 = 5, 000

OMciAZEES S4522 29 = 15, 000

OMcHAIE XNDaZHEAS 249 = 15, 000

OMeHAE2H0l A = 20, 000
AHAHENEE ES 2,000 4,500 22,500
206 M= Hl 2,000 0 2, 000
01 THZEHl 2, 000 0 2, 000

OaEHANEE Nz7E = 2,000
SIHZANZLIHRE 29X& 19, 440 19, 440 0
308 X HHMSOIH 19, 440 19, 440 0
01 RXSMBIAESEZ 19, 440 19, 440 0

OS2IIEA BLIHEE 29 = 19, 440
SIEEIAIE 2012 Al& 20, 000 0 20, 000
308 X HMSOIH 20, 000 0 20, 000
01 XXSMBAEEZ 20, 000 0 20, 000

OSIH2EIAIE =12 Al4 = 20, 000
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180 4,481,413 6, 830, 893 N2,349, 480
NEFN 2 LAE 3,946, 413 6, 454, 893 A 2,508, 480
22 A= 2 2g 48, 893 48, 893 0
307 g@lz2tol & 48, 893 48, 893 0
05 2SS 48, 893 48, 893 0
OZ2ZA=X3sl 2 2 &2l = 48, 893
NEFM=SAMY 1,158,300 1,438, 000 A279,700
308 AXIHHSOIH 1,158,300 1, 438, 000 A279,700
01 MAEHIdELS 1,158,300 1,438, 000 A279,700
Ongsds# = 737,100
[= 567, 000]
(& 170, 100]
OsogMgesd = 421,200
[= 374, 400]
== 46, 800]
SE2ZZAE 350, 700 500, 000 A 149, 300
101 elAH| 350, 700 500, 000 A 149, 300
10 JIZNZ22NSEs 350, 700 500, 000 A 149, 300
OS2 A = 318, 820
[= 74, 640]
== 244, 180]
o=td= = 14, 340
[= 3, 357]
== 10, 983]
OHZ 2= = 7,840
[= 1, 835]
== 6. 005]
(ONE= )4 =) = 4,780
[= 1,119]
== 3, 661]
Ot HEE= = 4,920
[= 1,149]
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SH - SA(SH) - MBANY - BES 0l &+ o Shitr RS2
== 3, 771]
SE2ZAE XA 1,500, 000 1,500, 000 0
308 AHXIEHHISOIH 1,500, 000 1,500, 000 0
01 XMXEH3dEx= 1,500, 000 1,500, 000 0
O332Z A (169HAIZ) 10,000, 000, 000 * 15%= 1,500, 000
LAY & W& XIE 238, 000 148, 000 90, 000
307 gIz2tol & 238, 000 148, 000 90, 000
02 U23Hd=Ex 110, 000 100, 000 10,000
Osxg ARUSF = 10, 000
OZEIZZX oA = 45,000
OFY JIssS2a NAsSAzS = 5,000
OsdE4=2d = 50, 000
04 CIZFAAE X 128, 000 48, 000 80, 000
OZ=2ole A 9,000, 000& * 2&tH = 18,000
Ok Atete etotsUEUE 5,000,0008 * 2EHH = 10, 000
Otskx R3S = 20, 000
O AL SHOHE & A = 80, 000
UEHIAH 2012 AlY 30, 000 0 30, 000
308 AXIEHMSOIH 30, 000 0 30, 000
01 AXHMBSEL= 30, 000 0 30, 000
OUELHHAY 2012 A& = 30, 000
JsdlItal K& 400, 000 2,820,000 A2, 420,000
307 2I2told 400, 000 2,820,000 N 2,420, 000
05 GBIt =3 400, 000 2,820,000 A2,420,000
OX &l 400, 000
2= S5 220, 520 0 220, 520
401 Al2HI LR 220, 520 0 220, 520
04 AlZHI 211,000 0 211,000
OoZ2zXi=Xz2 55 211,000
05 Zcldl 8,000 0 8,000
OoZ2zXh=Xz2 55 4,000, 000& » 2& = 8,000
06 AIE20ibI 1,520 0 1,520
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O=2Z2X=Rg& 55 211,000, 000& * 0.72%= 1,520
2xtel FE I 2= 535, 000 351, 000 184, 000
A=ol2=z A K& 10, 000 20, 000 A 10,000
308 AXHMSOIH 10, 000 10, 000 0
01 AUXNHHBANEEZ 10, 000 10, 000 0
OAZZZ2XXA MY 2 5,000, 000& * 24 = 10, 000
FgHBoZe 25 X 25,000 31,000 A6, 000
308 X HAMSOIA 25, 000 25, 000 0
01 XXHMBLAEEZ 25,000 25,000 0
OF I3 =X 5,000, 000& * BIHAIZ = 25,000
AEE JIs"dAdL 500, 000 300, 000 200, 000
408 AtXI XS K=01 ™ 500, 000 300, 000 200, 000
02 3J|2SOICHSHHEE ArS I 500, 000 300, 000 200, 000
OHEEIZ GtgA Qs Z2082H = 500, 000
IR =208 2 JHed=sd 6,672,717 3,995,930 2,676,787
XY ¥ =ZotE &8 6,672,717 3,995,930 2,676,787
X S8 2 W= 80, 000 80, 000 0
201 et | 68, 000 68, 000 0
01 AtR2teldl 68, 000 68, 000 0
OluUX 82323 /EU=s = 12,000
(=2 12, 000]
Ol X &S AHe ¥ S22 ME = 56, 000
(=2 46, 000]
= 10, 000]
202 48l 12,000 12, 000 0
03 =20l 12, 000 12, 000 0
OXNGMUX HE3FA oA = 12, 000
[= 12, 000]
AHEHHXRNEES 1, 506, 000 2,454,040 A 948, 040
306 EH= 1, 506, 000 8, 800 1,497,200
01 =93 1, 506, 000 8, 800 1,497, 200
OHZHENHURN =S (SLHIAL03) = 1,146, 000
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SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
[= 688, 000]
= 458, 000]
OHYLSEANEEX(ELHAZH) = 360, 000
(= 180, 000]
= 180, 000]
AU HRXEES XA 1, 686, 600 181, 000 1, 505, 600
403 XXM S K201 ™ 1, 686, 600 181, 000 1, 505, 600
01 XXHHA=2EX 1, 686, 600 181, 000 1, 505, 600
OHYZUNA LA XI(0tA, ZAH)
1, 431, 666, 6662 *60% = 859, 000
(=2 859, 000]
OHYISEANLEEX(EE, 0l
204, 000, 000& *65% = 132, 600
(=2 102, 000]
= 30, 600]
OSAH0IQEHE LA EXI( 0l &)
1,390, 000, 000& *50% = 695, 000
(=2 695, 000]
X2 Jlgt 2822 28, 000 70, 890 A42,890
201 Ler2g| 5, 000 0 5, 000
01 AtSR2teltl 5, 000 0 5, 000
OItAHEEES M = 4,000
OMFHNESEIAMANEFY = 1, 000
207 AFIHEHI 20, 000 70, 000 A 50, 000
01 ¢+E9l 20, 000 70, 000 A 50, 000
OZEAIIASSHI EM4EEY = 20, 000
405 KHoHE SH| 3, 000 0 3, 000
01 XML =SSFHSHI 3,000 0 3,000
OIIMELR 2H01FAD 2 = 3, 000
SHENIISSAE 2,522,117 0 2,522,117
403 X SMS K201 & 2,522,117 0 2,522,117
01 XXHXNA=2EX 2,522,117 0 2,522,117
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(LI S20F 2 KL S
ol 4K 3 +F0ry st (Erol #@ e
SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
OsHEHIIBSME(AST) 2,967,196, 000& *85% = 2,522,117
(=2 2,225, 3971
= 296, 720]
NS XIAE K& 850, 000 710, 000 140, 000
403 XX ESHHSA=01H 850, 000 710, 000 140, 000
01 XXSHXMAELX 850, 000 710, 000 140, 000
OLED=ZEotS B2 S8 = 850, 000
(=2 850, 000]
HY2AHU(FNME ) 21,000 20, 220 780
JlE2Ztl 21,000 20, 220 780
JIE22Ztl 10, 800 11,160 A 360
201 et | 10, 800 11,160 A 360
01 AtR2teldl 10, 800 11,160 A 360
Oget=Z| = 10, 800
ol 2| 10, 200 9, 060 1, 140
203 ZR =&l 10, 200 9, 060 1,140
01 J|22Z 2= 6, 000 4, 200 1,800
Oa%E = 6, 000
04 BEA2IHRFZXHI 4,200 4, 860 660
OZME =1t = 4,200




